FRIET IV OEAER

B BT

learning curve

[ — train
4.2 4

Cross entropy
w
-
L

Lo
&
1

324

3.0 4

o 50 100 150 200 250 300
epoch

=T

learning curve

6.2 = bain
I — test

o
-]

Cross entropy
w
FS

Q 200 400 600 800 1000 1200 1400
epoch



WED2AETILTIIIRD LS (CNEFFiERZETE

ZL(HJ:L Pi j)

P(15& =x) =

H;ix,y Pyj

P27 = y|17& = x) = ——
(2% =y =) Z;im:(l—l}jtx,ipij)

0.8 0.8 4

o gl
aka V\m ::>E A WM

0.2 4 /wf’\/_‘/\f\j 0.2
0.0 4 0.0
o ' 0.4 8

~ |~
X f(x)
f(x) = ax
(a=0.592...)



1.0
—— 9player
—— 2player .\l
0.8 M
=
@ 06
1))
% 0.4 4
&
D
B 027
0.0 4 : . - -
0.0 0.2 0.4 0.6 0.8 1.0

1ERED RELY
2AETIE IR T1OBE(HAE: y ) ) NELKRBELLATHSOH?

= WLAETIOHALOLTERROREESD

2AETLDHEANDIEEEADEHR| p(178 = 1) =%ﬁ*’%5
i J#FLIL




propotion

"—LEY and 175
175

win

0.35 A

0.30

0.25 1

=]

MJ

=)
1

o
[
w

0.10 -

0.05 1

0.00 -

333 335 400 500
bank

I ENEE1BDORISEEL 2D




L —XIER

BIE FEERE

o= n (E{LL4E)
S 1-9-2 024
Hjjj{l_ﬁyij (0~1)
BEINEELD 1-2-9 0.13
EA7(CIE D FER 9-1-2  0.07

1L—X73 &HD

&
E&EIEIR 9

*
/15 ;E
FICTTDHE
AL

BEIR(EZH)NELET HEREFH

) = Al
PO =0 = Lillljzivi)
p2BE =y1E =x) = [ljzxy Yy

B Zi(nj;x,i)’ij)

_ _ _ _ Hj:ny,z Yzj
pOSH = 2|1 =x. 2% =) = 2Ty i)




